Texauueckue cpeacrsa ooyuenusa MB/IOY «/lerctBo» «IIPP» r. Kaayru
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HNuTepakTUBHAN 1 1 1 2 1 3 1 2 1 1 0 0
HocKa
1 1 1
MyabsTuMemiiHa 1 1 1 9 1 1 1 1 ) 1 .
sIyCTAHOBKA
MHTEPAKTH| yyrepakt
BHBINIION MBHEL
1o
Kommbrotep 4 3 8 15 5 5 4 6 4 6 4 6
Mnanmer perckuii 13 13 20 13 19 36 15 - 2 30 2 15
Hoytoyk 2 2 2 2 2 4 1 12 6 4 3 2
My3bIKaJIbHBIH HEHTP 1 1 4 1 3 2 2 2 1 2 1 3
Maruurtodon 5 7 6 9 - 6 5 2 - 10 0 0
TeneBuzop 9 9 15 8 13 13 20 7 17 19 17 0
Bugeokamepa 1 1 2 1 1 1 - - - 0 0 0
®oroannapar 1 1 4 1 2 1 1 - - 0 0 0
CeHcopHasi KOMHATa 0 0 1 0 0 0 0 0 0 0 0 0
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